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YEAR : 1999
Applied to a hill for *1,00,000 the

difference between a discount of
40% and two successive discounts
of 36% and 4% 1s :

'1,00,000 Ft Ufe1 | F Te & e,
o wF w2 40% # @it g0 w22 |
HHAN 36% 1 4% 1 SHi o & ae
T A o 27

(a) Nil (b) * 1,440

(c) 2,500 (d) * 4,000

A tradesman marks his goods
10% above his cost price. If he
allows his customers 10% dis-
count on the marked price. how
much profit or loss does he
make, if any ?

UF AMH A WEA W FT eI H
10% wifersh siferd iar 81 4% 98 &9
e i 3fFd 7o W 10% # g2 3@
2, @ 39 WER 98 A fhed wfae
g A B e wm?

(a) 1% gain (b) 1% loss
(c) 5% gain

A trademan marks his goodgza\t}
20% above the cost pricg. He
allows his customers a disdount
of 8% on marked pric F&}& out
his proﬁt per cent. )

20% a:ﬁm m?qm Bl e

e F 3FT Tod T 8% F1 L ﬁ?n
2, o 3HF ¥ widvia saE?

(a) 12% (b) 10.4%

(c) 16% (d) 20%

1
A discount of 25% is given to

the customer on the marked
price of an article. A man bought

the article for '39. The marked
price of the article is:

406 |

5.

6.

pio

(d) No gain. no loss XMJ

T

T Wewh il TH WHE F oiha qoed W

1
2% i w2 <t 9 B1 9% uew 39

¥ 20 OE ! wiEd B, 9 79 9EE #51

3iferc Hea 9 L2
(a) ‘42 (b) '36.5
(c) 40 (d) 41.5

The printed price of an article
is 900 but the retailer getsja

discount of 40%. He sells ‘fﬁa
article for 900. Retaile ig%ﬁ#i

per cent is: »

TF g5 F HAfwd ‘900“‘%‘ g
TF EEY AT 311 4_{9‘??{ 22T
W FE T AR ZTart 900
¥ a9 2 2, ﬁ.’a's‘q for = w5
fee ey et AT gar?

@) 40% ../ (b) 60%

b

1
(d) 68— %
3

-
Ch

{-‘:L{:é‘iscount of 15% on one article

is the same as discount of 20%
on a second article. The costs
of the two articles can be :

TH a%] W 15% HI gE(dE), Ed
g F 20% F g(F) F AU T, qr
T A e F F Jod T FL?

(a) * 85, 60 (b)' 60, 40
(c) * 40,20 (d)" 80, 60
YEAR: 2000

The marked price of a watch
s * 720. A man bought the

same for * 550.80, after getting
two successive discounts, the
first 10%. What was the second
discount rate ?

TF "E! F sHfEd goF 720 91, T
AR T T R FE: e, fd
w22l 10% 91, =1 w2 u %X '550.80
¥ wiea &, @ g9 92 @ o

8.

(a) 12% (b) 14%
(c) 15% (d) 18%
A sho eper purchased a
chw aﬁ{ed at * 800, at two

s sive discounts of 109%
g- _f?f& respectively. He spent
9728 on transportation and sold

o \Q}.‘ﬁe chair for * 800. His gain

Y,

10.
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percent is :

U JHRR TF Kl e sifwd g
800 1 &1 FHTE: 9% FA9: 10% 3R
15% o=t B €1 98 28 FaEn W
= F § S T 800 W I W ¥,
TEE ey wfaed @ 22

(a) 40% (b) 30%

(c) 25% (d) 14%

A shopkeeper marks his goods
20% above cost price, but allows
30% discount for
payment.His net loss 1s :
TF GHEAER M WWA W ¥ Pl o
20% siftrk sifFd il &, W o8 TR
PEA W 30% H T2 ¥ E, o IuH Wl
el wiewra = 87

(a) 8% (b) 10%

(c) 16% (d) 20%

A retailer buys 40 pens at the
marked price of 36 pens from a
wholesaler. If he sells these
pens giving a discount of 1% on
the marked price, what is the
profit percent?

T& GO AN, UF 9 fagwd ¥ 36
T % #frd gea W40 T whEd 2
4fe a8 & Tl F HfFHd o7 W 1% Fl
T2 H WY A AL, A OIEH A9
yfawra 0 €2
(a) 9%

cash

(b) 10%

1
(c) 10 % (d) 11%
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YEAR: 2001

The marked price of a watch is
*1000. A retailer buys it at ‘810
after getting two successive dis-
counts of 10% and another rate
which is illegible. What is the
second discount rate ?

wF w9 # #fFd Ye9 1000 B UH
TR A TH & FAE 92 10% 3%
ol s ¥ F wew w1810 § Awar
€, o 3l g W 82

(a) 15% (b) 10%

(c) 8% (d) 6.5%

The equivalent single discount
for two successive discounts of
15% and 10% 1s

< HETE: 82 15% #A 10% 9

T2 H A #7
(a) 25% (b) 20%
(c) 23.5% (d) 20.85%

A dealer offers a discount of
10% on the marked price of an
article and still makes a profit
of 20%. If its marked price is
‘800, then the cost price of the
article is :

TF M UF 9% & Alhd Jod W
10% =1 2 37 % 91 4t 20% F1 @09
Fud 21 4fz 7% @1 sifFd 5o 800
§, @ 95 W FA YT T@ w7

(a) '900 (b) ‘800

(c) 700 (d) 600

The marked price of an article

1
1s 200. A discount of 12"2-% s

allowed on the marked price&jﬂh)

and a proﬁt of 25% 1s made

cost price of the article is : §-\ )

T g F AfET 7e1°200 %, E\;a?m

1
e W 125% Ea EE;EHE ot
25% T Y= gy = FA
o F 87 Yanddt
(a) * 200 (b) * 175
(c) * 120 (d) * 140

A shopkeeper earns a profit of
10% after allowing a discount
of 20% on the marked price.
The cost price of the article
whose marked price 1s * 880, is

UF FHAER TF 9% F dfhd ged T
20% B2 37 % 9% Ht 10% F e0d
FUA €, IU 9 F FI Ged F1 W
forasr wfrd gea 880 2

16.

17.

18.

20.

(a) * 704 (b) * 640
(c) " 774 (d) * 680
YEAR : 2002

A single discount equivalent to
the successive discounts of
10%, 20% and 25% is

i sarTd: 922 FAEY: 10%, 20% R
25% Ty wF Il @22 & Ave €7
(a) 55% (b) 45%

(c) 46% (d) 60%

A trader marked the selling
price of an article at 10% above
the cost price. At the time of
selling he allows certain dis-
count and suffers a loss of 1%.
He allowed the discount of :

TF AN 9% F AFd T TWh FT
T ¥ 10% aAferF 3ifra w3 &1 a=d
g 7% U [HE=d g2 9 1% 31 81
Jom 2, A SuE g2 W e 22

ja) 11% (b) 10%

(c) 9% (d) 10. 5% Zlk

A shopkeeper marks hig go6ds
30% above his cost price but

allows a discount lO?{o at the
time of sale. His is

qa?ga?ﬁmamﬁ 1 A g

HE F AW oeaf‘&imaﬂ%mw

%mﬂ 9% 10% 1 5
yfqe =1 B’

[a] W (b) 20%

(d) 17%

18%
(@’glwng a discount of 10% on

the marked price of * 1100 of a
cycle, a dealer gains 10%. The
cost price of the cycle is :
*1100 g7t =Tl TF WEFe W 10%
W F g TE A 10% F A
FUE A 9 A% B FA God &2
(a) * 1100 (b) * 900

(c) * 1089 (d) * 891

The marked price of an electric
iron i1s ' 690. The shopkeeper
allows a discount of 10% and gains
8%. If no discount is allowed, his
gain per cent would be

e faee w0 w1 afrd 9e9 690 ®1 1
TR 3 W 10% 82 57 & 915,8% F
T T, AR FE off e S S
IGF o9 gl @ Em?

(a) 20% (b) 24%

[c) 25% (d) 28%

21.

22.

A discount of 14% on the
marked price of an article is

allowed and then the article is
sold for * 387. The marked price
of the article 1s

TF T ® sifhd eI W 14% H 82
& 9% 39 I F 387 H &= w6
€, T4 9% *1 3ifhd gea 491 87

(a) * 450 (b) * 427

(c) * 500 (d) * 440

A tradesman gives 4% discount
onl1 the marked price and gives
1 article free for buying every
15 articles and thus gains 35%.
The marked price is increased

above th€ cost price by

T % 3ifRd Hed W 4% Fi

TEAAL D W T 15 TG H TR W
a1 # 31 35% F1 wN FHomE

ﬁ% R JeT F FA gl 9 R

o™\ Uifeer afersr affea fen man 82

ﬁj (a) 40% (b) 39%
(c) 50% (d) 20%
23. A man sells a scooter priced *

24.
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36,000. He gives a discount of 8%
on the first * 20,000 and 5% on
the next * 10,000. How much
discount can he offer on the
remaining * 6,000 if he is to get
as much as when 7% discount
is allowed on the total ?

36,000 #1 =& 9Ee 20,000 W 8%
FI g2 aA #er 10,000 W 5% F T2
& 81 S8 919 6,000 9T febad wfaeid
U W 7% H w2 3 W A B 87
(a) 5% (b) 6%

(c) 7% (d) 8%

1
A salesman is allowed 5'2—%

commission on the total sales
made by him plus a bonus of

10,000. If
1,990.

1
E% on sales over '

his total earnings were °
his total sales (in ' ) was

T Hewsd 1 * 10,000 % Hi fawr

1 5
5—%ammmﬁﬁaﬁm

T HETH % ferr weE fer

%laﬁwﬁaﬁmﬁ'l,ggo%}m
Excalcraleicicad

(a) 30,000 (b) 32,000
(c) 34,000 (d) 35,000
|" 407
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A housewife saved ' 2.50 in
buying a dress on sale. If she
spent 25 for the dress,
approximately how much percent
she saved in the transaction?

TF e A WA H TH UNNE H
wiEd T99 2.50 91 w6 &1 4fz 3w
39 e F fou 25 wd e, | gy
[ oA- H 369 fopad wfaea w=n faan?

(a) 8% (b) 9%
(c) 10% (d) 11%
YEAR : 2003

List price of an article at a show
room is ' 2,000 and it is being
sold at successive discounts of
20% and 10%, its net selling
price will be:

uF viwed ¥ fEu axg 1 sifEa ge
2,000 ¥ 3R 3¥ < w9FE: 32 20%
37 10% ® WY &= W@ 8 HE THH

fawa Weq ¥ 22
(a) * 1900 (b) * 1700
(c) * 1440 (d) * 1400

The difference between a
single discount of 30% on * 550
and two successive discounts of
20% and 10% on the same
amount is

550 W THAA =T 30% SR ¥ S
Ted W A FAE B2 20% AR 10% &
1 A W 81 S THH S G 1 €7
(a) Nil (b) * 11

(e) * 22 (d) * 44

A trader wishes to gain 20%
after allowing 10% discount on
the marked price to his custom-
ers. At what per cent higher
than the cost price must he
mark his goods ? :
T S AT M # 10% )
% a5t 20% F AT FAA .

& AU 39 AW 9HA & efchd. Hod
F SEF F4 A 9 arferr
#fFd wem =mfeq? | TN
x\ (:::
(a) 30% ®) 33% %
2
(c) 34= % (d) 35%

In order to maintain the price
line a trader allows a discount
of 10% on the marked price of
an article. However, he still
makes a profit of 17% on the cost
price. Had he sold the article at
the marked price, he would have
earned a profit percent of

408 |

{‘j-'qaﬁmuaitmﬁaﬁmqﬁw

30.

31.

3fad gea 9, e & forw, & fagar 33, A store has an offer 'Buy 4 Get

et =g & ifed o W10% Ft 32
17% &1 @19 Wl T €1 9 36 7
sAfehd Jod W =1 g a@ 3H fRa
wfaer v &i?

() 30% (b) 32%

(c) 33% (d) 35%

A shop-keeper sells a badminton
racket whose marked price is *
30, at a discount of 15% and gives
a shuttle cock costing * 1.50 free
with each racket. Even then he
makes a profit of 20%. His cost
price, per racket is

T R UF Jefie e foma e
7930 &, F 15% Fit T2 & g S0 T
R ween defe We W uw Vet wiw
e e 1.50 2 31 21 ThE A
ot 78 20% 1 1 W FLEl 2 T e
1 F G T 87 g
(a) * 21.00 (b) * 21.25, g}
(c) *20.00  (d)° 17?.%?_))
A trader marked his wfs at
20% above the cest ptrice. He
sold half the ;2 ¢ ‘at the
marked price. onelgudrter at a
discount of Wn the marked

price and Test at a discount

of_ 40% gtrythe marked price.

His t 18

w 9% VAT TE F S5 F9 T

4 50% wifvie W sifan wan &1
e afEd qea woa=E faam

. TE-Htm g R ge T 20% F

32.

40% =2 & WY =49 G IHE FT
w1y ufaeE = 82

(a) 2% (b) 4.5%
(c) 13.5% (d) 15%
YEAR : 2004

A person paid * 17,000 for a
motor-car after a single discount
of 15%. If he is given successive
discounts of 5% and 10% then
how much he would pay ?

TF AfHUF He-FR & fou uwnE
2 15% o1 & 9% 39 fag 17,000
¥ T AR 3 FE: 5% 9 10% &
31 AT a2 fau W, | 39 fe wUY
3E T BM?
(a) * 17,000
(c) * 17,100

(b) * 17,010
(d) * 18,900

34.

is the net

1 Free'. What
percentage of discount?

forddt T 9 tw AT & qBd 4

T W TH g §1 g F A

w87

(a) 25%

(c) 20%

(d) Insufficient Data/#HY4aTd
SIS

(b) 33.3%

offers

A shopkeeper 10%
discount on the marked price
of his agticles and still makes
a pro?%; 20%. What is the
acttﬁ}g_"\,agost of the article
m * 500 for him?

ﬁﬁmmmﬁmw

oIy Q‘ﬂ'{

%

e

35.

36.
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10% # @z 3 & iR @ «§ 39
20% #1 =19 el ¥ R ged 500
% fou su=t srafas @rE =0 E?
(a) * 440 (b) * 425

(c) * 400 (d) * 375

Two people, Savita and Karan,
get their sales commissions
based on the number of items
sold each month. Their total
sales commission amounts to
Rs. 56,100 in a particular
month. If savita got her
commission 12% higher than
Karan, how much commission

did Karan earn?

Hfgar 3R @ ® YdE A% 3T
AN A T TR & AR W HHTH
T # afz 57 < 1 How wHvE
Rs. 56,100 7| aft |fear i oM
A R 12% Afam B, 91 wE B
A frat 22

(a] Rs. 26462.26

(b) Rs. 25,500.28

(c) Rs. 29,500

(d) Rs. 22,805.45

YEAR: 2005

A shopkeeper gives two
successive discounts on an
article marked * 450. The first
discount given is 10 percent .
If the customer pays ' 344.25
for the article,
discount given is

the second

www.spardha.guru
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TF HEASR fFE 9% W 450 fFa 40. A dealer buys a car listed at *

e T Y W T HEF Iz 3@ 2
el B2 10% ¥ 9k uww 7 39 a5
% few 344.25 s fae =, o g
e faat €2

(a) 14 per cent (b) 10 per cent
(c) 12 per cent (d) 15 per cent

A man sells a bicycle at marked
price which 1s 30% higher than
the cost price. If he gives some
discount and sells it at Rs. 150
less than the marked price, he
would still gain 20%. What 1is
the percentage of discount
offered?

T oAl Afohd Hod W T s
ST & S T qed | 30% 3t T
4fe 9% T T TG H B AR I6H
ST qoa § Rs. 150 w9 % oo &
i fort ff W/ 20% =1 @9 W g
&, < E we o v @ iy
(a) 7.69% (b) 1.83%

(c) 7.54% (d) 7.23%

A shopkeeper gives 12 per cent
additional discount along with
a discount of 20 percent on the
marked price of a radio. If the

selling price of the radio is *
704, the marked price is

TF gerer fadl e & offma 7o =
20% F UH 922 & A 12% F TH
SR sifafiad @2 <@ @1 afy edr =
fawa wea * 704 %, A e =1 aifwa
oo 1 &7

(a) * 844.80  (b) ' 929.28

YEAR : 2006

A compary offers thre
successive discoun
TF FOEN T T & é

Fit B A&

(1) 25% and lg;b,

(i) 30% and 10%,

(111) 35% and 5%,

Which offer is the best for a cus-
tomer?

= 4 9 mew & fau ®F @ 92 gey
w1 B

(a) First offer
(c) Third offer
(d) Any one: all are equally good

(b) Second offer

153 O

42.

43.

44.

200000 at successive discounts
of 5% and 10%. If he sells the
car for ' 179550, then his profit is
= A fER wR S faasr e
7 * 2,00,000 2, #1 A HEF 2
5% AT 10% WA wiEa 21 afz 72
™ W H 17,9550 F 99 @ & ar
I AT % FE, -

(a) 10% (b) 9%

(c) 5% (d) 4%

An article listed at ' 800 is sold
at successive discounts of 25%
and 15%. The buyer desires to
sell it off at a profit of 20% after
allowing a 10% discount. What
would be his list price ?

T a5 foge stEd g7 800 ® #

45.

TF M fEd awg F fawe @fed
Ted * 25,000 2, #1 q FoF g2 wAw
20% A 5% F W T ¢ 9% T/
% w1 ¥ 1,000 B w1 2 AR
*25,000 ¥ 99 31 ¥, @ S o9 %
- T % F 82

(a) Loss of 25% (b) Gain of 25%
(c) Gain of 10%(d) Loss of 10%
The marked price of a shirt and
trousers are in the ratio 1 : 2.
The shopkeeper gives 40% dis-
count on the shirt. If the total
discount on the shirt and trou-
sers is 30%, the discount of-
fered opfshe trousers is

T g s g 1
1 21 SRR FHN W

o O%Elﬂ@?ﬂ%lﬂﬁﬁﬁﬁﬂ%ﬁﬁ

3 HE g FA: 25% T 15% THL G

T T B EREER T lo%q\zéﬁ%f‘J

& 20% F1 &9 Y T =T |
Al SR iR qed A B R&J)
(a) * 620 (b) * 60
(c) * 640 (d) 680:44
A trader sells hi \Q‘Efs at a
discount of 20%. He still makes
a profit of Q%jlf he sells the
goods at marked price
only. Hlsr}oflt will be

T HEM H 20% HT T2
£ a1 1 AR et S 9w 25%
FLEY S ) A% 98 W 9WE F)
(6 offra oo 99 1 59 T %

j

'J?ITQJE:ITI'II

(c) * 1,044.80 (d) " 1,000 2\}"}

(a) 56.25%  (b) 25.56%

(c) 50.25% (d) 54.25%

If a discount of 20% on the
marked price of a shirt saves a
man * 150, how much did he
pay for the shirt?

¢ TF FHS F 2w Jod W 20% Fi
g2 & W ®, 9 Tk =t 150 ==
il €, df 35 59 a5 % oy fhad w9
o= fard?

(a) * 600 (b) * 650

(c) * 500 (d) * 620

A dealer buys an article marked
at * 25,000 with 20% and 5%
off. He spends * 1,000 for its
repair and sells it for * 25,000
what is his gain or loss percent ?

46.

47.

48.
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%e B2 30% T, @ wrEsm W R
Elﬁﬁ'l’d @ T 2
(a) 15% (b) 20%
(c) 25% (d) 30%
YEAR: 2007

Marked price of an article is
200. A dealer sells three such
articles for 546 after allowing
discount at a certain rate, Find
the rate of discount.

wF a5 1 sfed gea 200 B U
fagar w99 aqe = ffee ¥ W
T2 T F A5 546  d=al 81 B2 F W
E

(a) 10% (b) 9%

(c) 11% (d) 9.8%

The marked price of watch was
* 820. A man bought the watch
for * 570.72 after getting
two successive discounts, of
which the first was 20%. The
second discount was

fordlt =t #1 ifFa 99 © 820 oM TF
= T8 | FfiE g2 W wE F aR
* 570.72 W wiiga €1 A sEd used
T 20% &, @ 3ah we fea % -
(a) 18% (b) 15%

(c) 13% (d) 11%

A bicycle, marked at * 2,000 is
sold with two successive dis-
count of 20% and 10%. An ad-
ditional discount of 5% 1is of-
fered for cash payment. The
selling price of the bicycle at cash
payment is

|" 409
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T HiEhe fSEd Afwd 7o 2,000
T F A HEF T2 FI: 20% AW 10%
= WY A A R TR PREA W 5% F
e fafad g2 9 S 81 TR PEE )
rEfrel w1 fHwa gea F gm?

(a) * 1,368 (b) * 1,468

(c)* 1,568 (d) * 1,668

An article 1s sold at a discount
of 20% and an additional
discount of 30% is allowed on
cash payment. If Vidya

purchased the article by paying
* 2240 in cash, the marked

price of the article was

TF F5] Tl 20% Tt 9% T F WY ==
W #l S TR gmE W 30% F
sAfaftaa 22 &t Srt 21 afg fau @ g
TR F1 2240 ¥ wlEwm € @ =
FE F FfRT T F O

(a) * 4000 (b) * 4368
(c) * 4400 (d) * 4480
While selling a cooler, a

shopkeeper gives a discount of
10% on the marked price. If he
gives a discount of 12% he
earns ' 35 less as profit. The
marked price of the cooler is

UF Hel & 99d 999, UH GHASH
sifrd eur W 10% +1 2 2@ 21 Al
% 12% T B2 4 € A 39 @9 F &Y
%35 %9 U & g1 dl Her H ifhd
qoq I 2

(a) * 1,650 (b) * 1,625
(c) * 1,725 (d) * 1,750
A shopkeeper allows 4%

discount on his marked price.

53.

4.

90.

2

If the cost price of an article is4_J

* 100 and he has to mak
profit of 20%, then his m
price must be

wwﬂaﬁaﬁaﬁm Qﬁ’4%

T M T AR T
100 it =8 20% 31 am‘%m g
Eca e e it & e

(a) * 96 (b) * 120

(c) * 125 (d) *130

When a shopkeeper gives 10%
discount on the list price of a toy,
his gain is 20%. If he had given a
discount of 20%, his percentage
of gain would have been

w4 UF FHEAER UF fEreld 1 10% i
e 3d1 & ol 39 20% 1 @I UIE gl
21 7z 394 20% # 72 4 g o A
SHF A9 % T wm?

410 |

a:} 56.

@) 62 % (b) 2%
3 3
(c) 10% (d) 15%
YEAR : 2008

The marked price of a T.V. is
‘16,000. After two successive
discounts it is sold for *11,400.
If the first discount 1s 5%, then
the rate of second discount is

et T.V %1 2ifFa 923 * 16,000 21
< wUF 2 F AqE T 11,400 H sFT
S #1 A el g2 W 5% ¥ At gud

gz o fad -

(a) 15% (b) 20%

[c) 30% (d) 25%

The difference between a

discount of 30% on 2,000 and
two successive discounts of 25%

58.

R o e e (e
30% afus fwa wa 21 3k =%
gl w1 15% B aF # 9% 3%
910 d ¥+l 2 & & Yeu M Fi2
(a)' 823.5  (b)' 758

(€)' 814.2  (d)" 856.5

A shopkeeper marks the price of
an item keeping 20% profit. If

1
he offers a discount of 19-2—%

o1 the marked price, his gain
percent will be

T it ereq 1 HAferd gea TE

T E, % 38 20% 1 @19 8

1, 1
o~ }%}aﬂﬁimm 125%%%@&,

and 5% on the same amount is ff"‘\% 34 fRaq ufawm @9 gm?

*2,000 F TR R T @ 30% dw £/ (a) 4.5%

mnﬁwwmaaﬁrzge%%wﬂ%
a:rnﬁaﬁﬁmm%l

(a) ° (b) * 35/}
!01'25 (d),.

A dozen pair of sogks gb‘ted at*

80 are available atfa’discount of

(d) 6
YEAR : 2009
If on a marked price the
difference of selling prices with
a discount of 30% and two
successive discounts of 20%
and 10% is 72, then the marked
price (in rupees) is
afg Siftha e W T 30% F g2 SR
T & FAE B2 FAE: 20% 7 10%
% | fawa ged #1072 Bl A

F1 2ihd I3 F40 2
(a) 3,600 (b) 3,000
(c) 2,500 (d) 2,400

Ramesh marks his goods 30%
above cost price. If he sells
the item for 910 after
allowing of 15% discount.
Find his cost price.

60.
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(b) 5%

() 7.5% (d) 8%

A seller marks his goods 30%
above their cost price but allows
15% discount for cash payment.
His percentage of profit when
sold in cash is

wF fHwar a9 EEl W wT g o
30% #fe ifda Fxa 81 9 TS
A W 15% Fi B2 301 81 919 98 T8
TR A 9 a9d €, d 39 fhad
wfaer & g 22

(@) 10.5% (b) 15%

(c) 9% (d) 8.5%

If a person purchases a shirt,
he gets 6% discount. However,
if he purchases two shirts, he
gets 5% on the first and 8 % on
the second. If the price paid by
the person for two shirts is
' 925, then what will be the
marked price of each shirt?
AT U Al T HHIS WEd # al
I 6% T I Bl 81 T Afg ow
| FHHS TiE 9 39 9Eell wHHS W
5% 3T O FHHS 9T 8% e fHenii
af =fem g 1w & fag
‘925 H1 YaF fHa T # dl yow
FHIS 1 AfHT Hed F1 TI7

(a) * 494 (b) * 550

(c) * 528 (d) * 500
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In a shop shirts are usually sold
at 40% above the cost price.
During a sale, the shopkeeper
offers a discount of 10% off the
usual selling price. If he man-
ages to sell 72 shirts for °
13,608 then his cost price per
shirt, (in ") 1s

UF §FF W WERoRd: & RS &
IHF F G W 40% Aferw ofmT Fh
¥ WA B Th Tl H AR, SEAER
forra Ta W 10% %1 B < ¢ 4 98
72 =S w1 13,608 § A= ¥, v
e FHIS 1 w9 ged 7

(a) 210 (b) 150

(c) 149 (d) 125

A manufacturer marked an ar-
ticle at * 50 and sold it allowing
20% discount. If his profit was
25%, then the cost price of the
article was

foredt avg 1 ofkd @ S0 % W W
20% FI 9 F WA A S T AR I5H]
M 25% ¥, A g W FG Pod T 87
(a) * 40 (b) * 35

(c) * 32 (d) * 30

A shopkeeper earns a profit of
12% on selling a book at 10%
discount on the printed price.

The ratio of the cost price and
the printed price of the book is

uF gHEFER fEE g w g e ™
10% =t g2 <9 & =% 12% F1 od

65.

66.

67.

YEAR : 2010

If in sale, the discount given on a
saree 1s equal to one-fourth the
marked price and the loss due to
this discount is 15%, then the
ratio of the cost price to the
selling price 1s
afe fedt fast o, e W& W
1
s g ® 5 F TR E, A A
o %1 o wea ¥ W Sam 81 Al
mH 15% 21 =

ja) 3:4 (b)4:3
(c) 10 : 17 (d) 20 : 17
The difference between

discount of 35% and two
successive discount of 20% on
a certain bill was 22, the
amount of the bill is:

70.

@ [x_y_l}f)yo} e
o (p-a- 221
(©) [p+q—1’;q0J%
d) (p+q+p ]%

In a shop, shirts are usually sold
at 40% above the cost price.
During a sale, the shopkeeper
offers a discount of 10% off the

usual s price. If he manages
to sell hirts for * 13,608, then
lusé})s fice per shirt, (in ") is

o HrmTa: fRe o @ 3uE
!3140% Y sifeRd s o9l

"
%%I@Eﬁa#ﬁ TEEER F fawa

w e §35% g2 A W o A aw O N

FHAG 20% Tt T2 3 W22 H HRW ©

o &, @ 39 fae w5t afe et #H7
(a) * 200 (b) * 220¢ Zlk
(c) * 1,100 (d) 2, 00, j
The marked price of a watch is
*1,600. The sho Er gives
successive discount: 6t 10% and
x% to the omer. If the

cutomer P %}1?224 for the
watch, th of x 1s

771,600 21 SHH
THA/EER H HAEE 10%
F g2 W P o wieEr g

%?ﬁwmmmxm

FU 81 TE F FA g a1 9T gl w1 87

1 S 23 (@) 5% (b) 10%

(a) 45 : 56 (b) 45 : 51 ,‘:}J (c) 15% (d) 20%

() 47 : 56 (d) 47 : 51 o?:\-x 68. X purchased an item at a

If an electricity bill j¢ ti)a?d
before due date, ogktgets a
reduction of 4% on ount
of the bill. By ‘payi g the bill
before due daté*a~pefson got a
reduction of * 13. The amount
of his electricity bill was

afe u# faseft = faa =1 gmam 3w+t
foa e & vedl @ €, faw &1 afw
T 4% =1 FHI(FR) 1 Wt € faw wn
TH fod aiE 9 9ed FH W TE
i & faar 913 #1 FH sl )
fasett = faa =t of fad o2

(&) * 125 (b) * 225

(c) * 325 (d) * 425

69.

discount of 10% and sold it to Y
at 10% profit. The marked price
and the price for which ¥
purchased the itemn are in ratio
X fedt a5 w1 10% #t T2 W HT
TlTT 81 R T Y 1 10% @9 W
a9 3 21 fed gew A faE gew W
Y ¥ =wiw # 9 aqua 0 82

ja) 1:1 (b) 10 : 99

(c) 20 : 99 (d) 100 : 99
Successive discounts of p% and
q% on the catalogue price of an
article is equivalent to a single
discount of:

ot =g & T 959 W p% T8 q% T
o w2 f60 ©F 92 F g 87

T1.

T2.
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™ 10% 1 2 <@ 8 AR w216
FHS #1 13,608 ¥ 3= B, @ w0
wS w A Yed F1 7
(a) 210 (b) 50
(c) 149 (d) 125
If a shopkeeper marks the
price of goods 50% more than
their cost price and allows a
discount of 40%, what is his
gain or loss percent?
UF TFFASR 0 WHE W OSEE FA
e G 50% s sifwd F € el
40% #1 T2 @1 €, @ SuH 19 davE
a1 w1 ufeed =1 &7
(a) Gain of 10% (b) Loss of 10%
(c) Gain of 20%(d) Loss of 20%
A shopkeeper listed the price of
goods at 30% above the cost
price. He sells half of the stock
at listed price, one fourth of the
stock at a discount of 15% and
the remaining at 30% discount.
His overall profit is

TS SHEAER S H Jod @ e g |
30% afer =i F@1 21 = 24 T
F1 gl geg W A= w2 % A H
15% = 92 | 99 a1 € 3 9 *

30% = B2 % WY 99 3@ T SHH
e fwaw @y gam
(a) 15%% (b) 15%

3 2
(c) 15— % (d) 15— %
5 3

|" 411
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Maha Bazaar offers 20%
discount on bags which have
been marked 50% above the
cost price Amarnath pays * 840
for a bag. Then the cost price of

the bag is

@ qed § 50% At sifErd gen w
Hel SR § Aol 9 20% g @ Sl E
T W sy A 99 I #md 840
o731 11 4 59 Sl 1 o goq A 17
(a) * 672 (b) * 700

(c) * 790 (d) * 810

An article of cost price * 8,000
1s marked at * 11,200, After al-
lowing a discount of x percent
a profit of 12% is made. the
value of x 1s

uF o5 faws w4 9 8,000 €,
wafE sifrs 9o °11,200 ® aom x%
F B I F AR f 3H 12% F A
T B, 9 X OAA F: E7

(a) 21% (b) 20%
() 22% (d) 23%
While selling a watch, a

shopkeeper gives a discount of
5%. If he gives a discount of 6%,
he earns ' 15 less as profit,
What is the marked price of the
watch ?

TF TE FH 990 HHA, TF SHESH TH
5% H 2 I 21 AR T8 38 W6%
T 1, 9 SH @9 ® FY H'15 FHH
e, @ sw wfwa gea ¥ 22

(a) * 1,250 (b) * 1,400

(c) * 1,500 (d) * 750

Rahim bought a T. V. with 20%

discount on list price. Had he
bought it with 25% discount he
would have saved * 500. At v?’a"t:}
price did he buy the T. V?

WM & T.V 389& §6t 76 T 9%
T W wew ¢ Al HHOE% 7
% WY e g @ SW500 w a=d
o, 1 3T R e TV =dm ar?
(a) * 16,000 ‘() 2,000

(c)* 10,000  (d) * 8,000

A shopkeeper list the price of an
article as * 500. But he gives a
certain discount which allows the
buyer to pay ' 500 for the article
imncluding 10% sales tax. The rate
of discount 1s

& R fR 5 #5500 Fr
F ¥, Wy 9% T e 22 [ F G-
500 # i #1 foed 10% ol
wiftet 1 w2 1 wiave 2 et 27

412 |

78.

79.

80.

'"l)

81.

1
(a) 10% (b) 10— %
() 9o (d) 11%
11
YEAR : 2011

A trader allows two successive
discounts of 30% and 15% on
selling an article. If he gets *
476 for that article, find its
marked price.

T fTFEa FE amE FodEd 99 S
FHE B2 30% e 15% % €1 af% FE
476 ¥ W w0 €, o 39 SAma

T ¥ 87
(a) * 700 (b) * 400
(c) * 900 (d) * 800

The marked price of a table is
* 800. A retailer bought it after

82.

83.

two successive discounts of ¢™,

10% and 15%. He spent*
transportation and sold it

fo
875. His profit was L §
84

et o aﬁa@?&@

TR SO T & wfhE ;9‘?3911
15%37ma@33a1%n~ A T
13@ﬁmgaﬂ1 gﬁaaam

&1 IHH @9
(@) 40% 54 ) 37%

(c) 28% (d) 25%
To a et‘more visitors, zoo
authdrify announces 20% dis-

co@t on every ticket which
ﬁ 25 paise. For this reason,
e of ticket increase by 28%.

Find the percentage of increase
in the number of visitors.

aAfess g w R 6 & fom,
yoft 3eE Wit A 25 9 5 yokw
ez 9T 20% == %4 = S EH T
F01 okl 1 faaht 28% =g T AR
w1 Gem | gfg @ ufava 9 s
a) 40% (b) 50%

(c) 60% (d) No charge

A merchant marks his goods
40% above the cost price and
sells them at a discount of 15%.
Find his gamn %.

TF AN A aEg F e IS
4 9d ¥ 40% wfum ifea Fn @
4R 15% %1 92 % "9 49 a1 e
I @ ufawE = 2?7

(a) 25% (b) 22%

(c) 19% (d) 20%

lSong) )

85.
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How much percent above the cost
price should a shopkeeper mark
his goods so as to earn a profit of
32% after allowing a discount of
12% on the marked price?

TF THEAER F T FEgen w1 wifEa
g 3T% 9 ged 9 frad wfaea afies
FHfpa & =fe fF 12% #F g2 A
R it 38 32% F A9 U ET &7

(a) S0% (b) 40%

(c) 60% (d) 45%

The price that Akbar should
marks on a pair of shoes which

costs him," 1,200 to gain 12%
after a 1 g a discount of 16%
(in Ty

mﬁuﬁ:a@‘lsﬁﬁwmw

;ﬁoﬁmwwaﬂmmm

16% Ft T2 3 = % 12% =
T w17
(a) 1,344
(c) 1,600

(b) 1,433
(d) 1,500

. A trader allows a trade discount

of 20% and a cash discount of

1
61 % on the marked price of

the goods and gets a net gain of
20% of the cost . By how much
above the cost should the goods
be marked for the sale ?

TF AR 9 AR W 20% B
AT 4aT & 31 9 9 % aifwd 9o

m6%%ﬁwquﬁéﬂ1%‘|waﬁ

U AT A W20% g o fremn
?1 TETER ¥ fow 3@ e W
sfrd qod, IHF @ god § fEa
SR wfeT?

(a) 40% (b) 50%
(c) 60% (d) 70%
A discount of 16%
marked price of a book enables
a man to buy a pen that costs *
80. How much did he pay for the
book ?

% fRaa W 16% #I 92 & FRO TH
= T Fem fawEt w80 ©
el wFal ¢ 39 oA 7 39 feam &

on the

fom fem v feuw?
(a) * 810 (b) * 800
(c) * 420 (d) * 740
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Mr. A bought a refrigerator with

2
165 % discount on the labelled

price. Had he bought it with 25%
discount, he would have saved
* 600. At what price did he buy
the refrigerator ?

A fedt fira #1399 qfid g9 W
16%%;@%11121@11@%3&@

B9 25% B2 W Tg B, d =8 600
= UE, At 3 fRad 'R H few

TR a1?
(a) * 6000 (b) * 7200
(c) * 7500 (d) * 5000

The marked price of a saree is
* 200. After allowing a discount
of 20% on the marked price,
the shopkeeper makes a profit
of * 16. Find the gain percent ?
e # R g9 200 B gEAER
iR e 9t 20% F G o & 9% 16
1 A FEA B A SGR A Yo F B

1 1
(a) 11-% (b) 9—%

9 11
(c) 11% (d) 8%
During month-long annual sale,
a shopkeeper sells his goods at
a discount of 50%. But in the last
week, he offers an additional
discount of 40%. If the oniginal
price of a shirt is * x, then the
price(in rupees) during the last
weelk of the sale will be

UF TeH o =oi 9, U aifts ot

aam%ra'sﬁa%aq‘mm %}
F wfafem gz ff 3 2 =

TF FHS F1 ANEF 959 X %‘l\‘m
e gwe o =2 fH ,_‘)'61@11?

(a) 90% of x  (b) G‘j;;}:fx
(c) 30% of x  (d) 10% of x
Ramesh boug tﬁﬂ% “éycles for *
500 each. He spent * 2,000 on

them and sold five of them for*
750 each and the remaining for
* 550 each. Then the total gain
or loss % is

Wy 10 wEfFEd g&F 500 W H
wiEdl 81 9 T W 2,000 B wa
?1 3N 9% ¥ W 9 WEfeed 750
wHE Y I I B SR 9w
550 Yeid it & § 4 & 2 A S
el o9 % a1 T % 82

93. A toy train is marked at

1

(a) Gain of 8 = Yo
1

(b) Loss of 8 = %
. 2

(c) Gain of 75 %

1
(d) Loss of 7 = Yo

90. The Banker’s discount on a bill

due 6 months hence at 16% per
annum 1s ° 216. The true
discount 1is :

TF faer ® 6 7EH % fomw 16% =nfew
WY WEEE 9221 216 21 @ v e
1 57

(@) * 212 (b) * 180

(c) * 210 (d) * 200

The cost of manufacturing of

a tape recorder is * 1,500. The
manufacturer leCS
marked price 20% above
cost of manufacture and
a discount in such a w '0

get a proﬁt of 8%. Th {ra@e of

discount 1s
A 1,500
's'-nm Fmior

T TafEEL &
#1 =R Aen T

A | 20% il it w21 ok
'QT%"Q?‘EH_ % % 38 8% FI
o9 gl T 4 B
:a]1 /o,,; (b) 8%

(d) 10%

certa]n article. If discount

!Cl
92.
% the profit 1s 25%. If the dis-

o count is 10%, then the profit is
H, @WMWSO%@We‘ J

foredt fosin o & forg afg w2 25% %
it T 25% ¥ AfK T2 10% € df @
Yo 1 %:’
(a) 50% (b) 40%

1
(c) 30% (d) 33 %

* 400
and sold at a discount of 8% during
Ganesh puja . A shopkeeper
announces a discount of 8%
more. The amount he will lose if
he announces a single discount

of 16% is

w faeim e W 400 fEa fEa
HERAE Sl s R e
S 21 UF gHERR 8% fifiad w2 A
S FE 21 3 R w9 el
erft afE =E wh W 16% i we &6 Bl

94.

95

(a) * 2.56 (b) * 3.84
(c) * 4.16 (d) * 5.78
YEAR: 2012

A single discount of 50% on an
article costing * 10000 is better
than two successive discounts
of 40% and 10% by

fortlt =g fagant 99 ° 10,000 %, W
50% #t TF AE T2, I HAE 40%
g 10% 92 9 T wEeEg 2

(a) * 400 (b) * 1000

() * 500 (d) * 600

A purchased a dining table
marked }at = 3,000 at a
aisu.cce%{#‘*jk discounts of 10%
ancf'}l respectively. He gave
s transportlon charge

“gold it at * 3,200. What 1s
%' gain percentage ?

f'\QfA@Eﬁmc—vﬁﬁamaﬁﬁqw

96.

97.
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the f{i,/ 3,000 %, F1 3 HHF T, FA: 10%

T 15% Ft | T BHEA T T TEER
w105 @d w6 B 2R =W 3,200 §
¥ ¥ B IHF AH % 7 E?

1
@) 22-% (b) 25%

1 17
(c) 33= % (d) 37 — %
3 24

A dealer buys a table listed at *
1,500 and gets successive
discounts of 20% and 10%. He
spends ' 20 on transportation and
sells at a profit of 20%. Find the
selling price of the table in rupee).
TF TEER fH A = T dfEa
7 * 1,500 &, wiEa €1 3R & waw
w2 20% a1 10% wis HG & 98
20 FEE W @ w1 i 4 #in =%
20% a9 & W9 34 o= 301 B B H

fowa Toa 9w (FIQ H)

(a) 1320 (b) 1080
(c) 1200 (d) 1230
Which of the following

successive discounts is better
to a customer ?

Frefafea § | ®F W wfae gze
e & for s wm?

(1) 20%, 15%, 10%

(2) 25%,12%,8%

(&) (1) is better

(b] (2) is better

(c) (1) or (2) (both are same)

(d) None of these

|" 413
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98. The marked price of an article
s ' 100. A discount series of
5%, 10% successively reduces
the price of an article by
et o 1 2ffFa 9ed 100 &1 T
®F B 5% 9 10% F A ToA
frat ®94 ®9 B ST

(a) * 4.5 (b) * 14.5
(c) * 24.5
(d) None of these
99. An article is marked at ' 5,000.
The shopkeeper allows

successive discounts of x %,
y%, 2% on 1t. The net selling
price is

frdt g #1 @ifFd ¥ed 5,000 2
THEAER 5 W X%, y%, 2% 1 HfHF
T2 YEA F B 9 e fa e €7
(100-x)(100+ y)( 100+ z)

200

(a) *

(100+x)(100+1/)(100—z)
200

() *

(100 x)(100— y)(100-z)
200

(e)

(100—)(100+1)(100-z)

200
A shopkeeper purchased a
chair marked at * 600 at two
successive discounts of 15%
and 20% respectively. he spent
* 28 on transportation and sold
the chair for * 545. His gain
percent was
TF SHMEER fRdl HH *f faww sdfea
ge1 * 600 ®, #1 F HiE g2 FA:
15% @1 20% #t T2 & |y m*?
?1 9 AaME W28 ' F g
ie’faﬁ‘S%ﬁtﬁiﬂT%i?glm

(d)
100.

% = 87 o
(a) 25% (b) ﬁ&;}
(c) 35% (d) 202

101. Two successiw{&iéﬁounts of
10% and 5%, in'this order, are
given on a bill of* 110. Find the
net amount of money payable
to clear the bill [answer to the
nearest rupee)

fredt famr w fomar ufer * 110 =
HHE g2 10% a1 5% & I 21 54
ufer 1 qaE @ 381w & forg 3fEa

ot = 2

(a) * 94 (b) * 95

(c) * 96 (d) 97
414 |
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102. A merchant allows a discount of
10% on marked price for the
cash payment. To make a profit
of 17%, he must mark his goods
higher than their cost price by
TF AW e PEE w9 sifEd
Ted W 10% #1 g @ & 17% #
M FAH & fou IH s awge #+
Ted, %4 Hed 9 faaw % afus dfsa
T wfen?

(a) 33% (b) 40%

() 27% (d) 30%

If the discount 1s equal to one
fifth of the marked price and

the loss is half the discount,
then the percentage of loss is

103.

ﬂﬁ?geqmwaﬁé & awen g 3
wift, me # el B d vt % w82

1 1
(a) 10 =% (b) 11=%
9 9

(d) 13 %}g?ﬁ

1
(c) 12=%
9

A profit of 10% is rnaqfc? after
giving a discount

V If the marked
* 2640.00,

the ™V was

A fdt T,

o, 109

104.
“on a T.
of the TV

Cost price of

ﬁ)ﬁ‘%a’rqzﬂmw
Farr 21 afg TV &
2640 B, @ T.V # %9

(b) * 2296
+ 2380 (d) * 2396

lQ} How much percent more than
the cost price should a
shopkeeper mark his goods so
that after allowing a discount
of 25% on the marked price, he
gains 20% ?

T THAC H A G & God Hl
9§ o % aifus st =0 =ifeg
i i T W25% M w A=
a7 g8 20% FH AT FHC B

(@) 70% (b) 50%

(c) 60% (d) 55%

A shopkeeper marks his goods
20% above his cost price and gives
15% discount on the marked
price. His gain percent is

TF THAGR AT TG F g, FH
o9 & 20% #fs sifea @ 21 @R
#iferd Hoa T 15% # B2 a1 81 SHH
AT % -

106.

107.

: 2
C;IQQ“ESCOUHT on a pair _of shoes

e)

109.

110.
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(a) 5% (b) 4%
() 2% (d) 1%
A shopkeeper sold an item for*
1,510 after giving a discount of

1
245% and there by incurred a

loss of 10%. Had he sold the
itern without discount his net
profit would have been

TF TSR R T w 24%%3%
ﬁﬁ'—‘li‘ﬂﬁ‘ljloffﬁaiﬁ%l

10% #1 @ift Semr 21 4fz 3§
39 9% F o g2 & &= g a 39
Foran @ gram

< g
(a]?@@ (b) * 322

ey

22 322

(@ 322

marked at' 475 and discounted
at 15% i1s

T SISt S TSR Sfhd go8 “475 €
At 15% =1 72 & < 2, 9 T w2
(Fqt #) a7

(a) * 70 (b) * 72

(c) * 71.25 (d) * 75.25

A machine is marked at * 6,800
and available at a discount of 10%.
The shopkeeper gives another off
season discount to the buyer and
sells the machine for * 5,202.
Find the off season discount.

us wyie gl @i e 6,800 2,
10% %t @2 & WY IeRd Bl gFARN
@iee #1 off season # A TH
stfafa w2 a1 71 @i weie = 5,202
¥ o %’, Gl Off season =2 foRarr &

(a) 10% (b) 12%
(c) 15% (d) 18%
A shopkeeper offers 10%

discount on every purchase of
an article. It also offers an
additional discount of 12%, if
the payment is made in cash. If
the original price of an item 1s°
2350, how much a customer will pay.
if he wants to pay the price in cash?
TF GHFER F® 95 Hi &g W 10%
e WA w2l AR TR e fEm
S A TE 12% H afafE a2 3 2
7fg 3§ 9% *! arta® = 250 €,
@ UEF I T T=1 HEA Brm AR T’
TR PEA F AR T

(a) * 180 (b) * 192

(c) * 198 (d) * 195
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With a 5% discount on the cost
of sugar, a buyer could purchase

2 kg. more sugar for * 608. Onginal

selling price of sugar is.

= F1 w9 § 5% H F2 o F R,
FE ek 608 ® 2 fFe m- wmEn S
AR FHA ¢ o = R arafas fwa

oo 1 B

(a) * 15.50 (b) * 15

(c) * 16.50 d) " 16

A man saves ' 25 on the

purchase of an article on which
a discount of 20% is allowed.
how much did the man pay?
e Afad forddt avg =1, fo9 9 20% #i
e & T & W | 25 == e
21 a1 39 = 3 99 9% & e fead
=g e fa

(a) * 75 (b) * 150
(c) * 100 (d)* 125
YEAR: 2013

A double bed is marked at *
7,5000. The shopkeeper allows
successive discounts of 8%, 5%
and 2% on it. What is the net
selling price ?

T 29 9 1 AT 9o 7,5000 2
TFAIR T W 8%, 5% gl 2% Fi HidE
T T 21 A SEH faRd ged R
(@) * 6,500  (b)* 6,000

(c) * 6,4239 (d) * 6,500.50
Anand marks up the price of an
article by 50% and then allows
a discount of 20% and sells it
to Balaji who sells it for * 20
more than what he purchased |

TF THEER TF 9 % #HfFd 00 T
10% =t g2 ¥ ¢ ofed @ {8 ™
T W 8% 1 fawt # =g = 2
afg e faw # dfed goa & w9 H
3,402 a1, @ #fFa gea # 2

(a) * 3,400 (b) * 3,500
(c) 3,600  (d) " 3,800
116.Charging 30% above its

production cost a radio maker
puts a label of * 286 on a radio
as 1s price. But at the time of
selling it, he allows 10%
discount on the labelled price.
What will his gain be ?

T e Fmfm et =t Fmion o o
30% ik age & fom fea w 286
FI FITd F1 o I ¢l TG 59 S
A, o6 oiel idd 9 10% i B2 4l
#1 3 fapan a9 g
(a) * 257.40 (b)
[c) ~ 198 (d)

*254.40
*37.40

117.The marked price of an a;"t‘é}?
t

is 10% higher than t
price. A discount of SQB’

o 1s
given on the marked pI

e. In
this kind of sal i She sseller

bears.
et a%g =1 s'eaﬁamqm
A 10% AaFL1) T W 10%

ﬁ%ﬁﬁ}?lsﬁmﬁﬁqﬁﬁﬁ,
g@%n%?

a]il Joss, no gain
(% Aoss of 5%

a gain of 1%

V\ﬁ) (d) a loss of 1%

for, this S.P is 30% more then Jfl8 A shopkeeper sold an item at

the original C.P of the at’t?\‘}

Then Balaji’s profit % is

e 2 aEgl #1 9ed 50%dF aar

<1 B 91 S T 20% @ﬁ@l

S S

HH wlig WY @#é: 20 aqﬁqaa i

A=Al B IHHE T

WWHSO%aﬁsﬁﬁ‘lmm
T % 1 2

(@) 7.5% (b) 6.66%

(c) 8.33% (d) 9%

A shopkeeper allows a discount

of 10% on the marked price of

an item but charges a sales tax

of 8% on the discounted price. If

the customer pays * 3,402 as the

price including the sales tax, then

the marked price is

10% loss after giving a discount
equal to half the marked price.

Then the cost price 1s

TH 9% W UF 92 S % ifEd oo wi
et € W F =% 10 wwa 1w ert 2
LR el

1

(a) Eth of marked price
4

(b) = th of marked price
5

(c) = th of marked price

7
(d) = th of marked price

119.

120.

A shopkeeper offers 15%
discount on all plastic toys. He
offers a further discount of 4%
on the reduced a piece to those
customers who pay cash. What
does a customer have to pay
(in) in case for a toys of * 2007

T SHEAR s % | e w
15% =1 B2 301 B1 @€ 39 WEH
3T 4% 1 T A1 E W THEG A
F € fre 200 % faes & fod
TS UEH 1 fwar s uw CH)
gt ?

(b) 129.8

(a) 133.7 ¢
(c) 16;6{?} (d) 153.2

A wét 1" having marked price
asl% 400 is sold for Rs. 5040

o™ r two successive discount.
o the first discount is 25% then
o~

£

121

122.
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hat is the second discount

,,./ percentage?

us 9 qEFl Afd gea 8400 & €,
4 wfas 92 & W15 5040 % # S+ St
1 9f% veelt @ 25 dfavE #1 2, 9 gl
e T wfaem =t €7

(@) 15% (b) 20%

(c) 25% (d) 30%

A shopkeeper sells at a discount
of20% and earns a profit of 60%.
If he sells the same table at
40% discount, then what will be

his new profit percent?

TH FHEAGH TF 7 H 20% F T W
ATHEC 60% F1 NH FHEE T AR Taw
S & 40% Y g2 W Sl 7, A SHH
T o9 ufawra F gm?

(a) 20% (b) 30% [c) 35% (d) 40%
An article 1s listed at Rs 2375
A man purchases it at two
suiccessive discount of 50%and
25% spends Rs 165 on repairing
of article.If he sells the articles
at a profit a of 62.5% then what
is the selling price (in Rs) of the
article?

T o A 9o 2375 ® ¥ U
=afgd 78 50% den 25% i & HfEw
T W TEA & A 165 ®. IHH!
Wod | @H F36 ¢ A% 98 5% H
62.5% % @1¥ 9 S9dl &, d 9% bl
fawa g=g (% B) # T ?

(a) Rs.1467.6 (b) Rs.1492.6

(c) Rs.1715.39 (d) Rs.1464.6

|" 415
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125.
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128.

The marked price of a sofa set
15 Rs. 4800 which 1s sold at Rs.
3672 at two successive discount

is 10% then what will be the
second discount (in%)?

uF G % e sifre e 4800
@ € 30 9 HiE 92 W 3672 TE |
o ST 1At Teelt 92 10% #, df gt
T (%) F &2

(@) 13% (b) 14% (c) 15% (d) 17%
The marked price of a shirt is
Rs. 1280. If the shirt is being
sold for Rs. 900, then what is
the discount percentage?

T I T SATFT Hed 1280%F ¢ AR
39 ¥ F 900F H a1 9l 8, a g
wfera =1 27

(a)31.31% (b) 25.57%

(c) 29.68% (d) 34.36%

If a Sale there is 30% discount
on the marked price of Rs
2500, but the sale is done at
Re 1400 only. What additional
discount (in %) did the cus-
tomer get?

R UF fawl # 2500 ® & HRa g
W 30% F w2 ot 2, e faw
FId 1400 T W H TE, q WeF Hl
foraft sifafea @2 (% ®) faerft?

(a) 10% (b) 20% (c) 15% (d)25%
If a shopkeeper sells an item
at Rs 4200 which is marked at

Rs 4800, then what is the dis-
count (in %) that he is offering?

et o 1 @ T X2 T 150%
e fafed fofan T 81 40% = 3 & 9"
I 600 F T T W B (¥ H) T A7
(a) Rs.400  (b) Rs.666
(c) Rs.300  (d) Rs.444

129.1f 1 saree is offered free on pur-

chase of 3 sarees, what is the
effective discount on each saree?

4% 3 WE F Wi W1 HE g 9
F WY H W 2, 9 Yolw WE W
T B2 87

(a) 20% (b) 30% (c) 25% (d) 40%

130.The discount offered on a Shirt

of Rs 500 and a pair of Trou-
sers of Rs 1000 is 20% and 40%
respectively. If Ajay bought 2
Shirt and 3 pair of Trousers
then what was the effective
discount ( in %) he recieved?

TF 500 T F W AR 1000 7w} wE 2 O N

134.

135.

(a) 14% profit (b) 20 % profit

(c) SO % profit (d) 5.5% loss
Ticket for an adult is Rs 1600
and a child is Rs 1200. 1 child
goes free with two adults. If a
group has 23 adults and 10
children what is the discount
the group gets?

s qgE & e %1 ged 1600 w99 &
3 Tk = B e w1 e 1200 w9
LI I I R R |
Tl € 9 o a9 § 23 97 @n 10

(a]25.95 %  (b)24.59 %
(c) 25.7 é’o (d)31.60 %
25%;} sount is offered on an

1tél§}) By applying a promo code
the customer wins 8% cashback.

O What is the effective discount?

R FA: 20% 3 40% F 72 & A 2 e/

afs et 3 2 v aR 3 i 2w
W 39 FEE (% W) e e ;
[a) 30% (b) 32% (c) 25%A35%

131.1f on a sale there _1‘3;40%

discount on the ed price
of Rs. 1000, but the sdle is done
at Rs. 510 oaly then what
additional .dés¢otint (in %) did
the custox él}«ﬁet?

TR TE ﬁr& AW 10008
40% =t 2 Bt @, afe

%ﬁ S106 9 & Sl 2, o Uew
o

wfafem 72 (% W) oo £2
(b) 15% (c) 10% (d)30%

QﬁWWQOOF‘T{EWm 31 .An article is sold for Rs 4080 after

%ma:laqﬁﬁqwamon?%,a%a?(_)

it T (% H) ﬁmmmﬁ?}
(a) 12.5% (b) 14.28% h
(c) 10% (d) 15% {2}

If a retailer offers 1seount of

20% on the marked priee of his
goods and thustdgs;up selling
at cost price, what was the %
mark up?

TR FE WU ANA FH G &
3ifha qoa T 20% F P2 A E W W
WE A Hed S €, @ an qod
fora ufawra sifys o127

(&) 20% (b) 25% (c) 30% (d)40%
The cost price of an article is
x. It 1s marked up by 130%.1t is

sold at Rs. 600 after giving 40%
discount. What i1s x (in Rs.)?

416 |
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a discount of 15 %, What is the
marked price (in Rs) of the article?
|5 Sfcerd 1 g2 & 9% U 9] 4080 ®
F A= S 21 A W AR g (F
#;) w12

(a) Rs.4600
(c) Rs.4950

(b) Rs.4800
(d) Rs.5150

133.If a merchant offers a discount

of 20% on the list price, then
she makes a loss of 16% What
% profit or % loss will she make

if she sells goods at a discount
of 10% of the list price?

Az T = gt god W 20% F T2
WE wE §, @ T 16 % H THEA
B €1 A o8 T I W 10% F 5E
T W d=d ¢ od 39 R % ey A
fra % wfa 2nit?

136.

137.

138.
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Qﬁéa@m 25% B FI WS F T 2

TF UM TS W] FE TEE 8% THS
A7 S ¢ SE Tl w32 82
() 35.75 % (b)35 %

(c) 31 % (d) 12.5 %
Marked price of an item is Rs
400. On purchase of 1 item
discount i1s 6% and on purchase
of 4 items discount is 24%
Rachita buys 5 items, what 1s
the effective discount?

U 5 F fafed Fd 400 21 1 a5
T EE W 6% ¢ Tierd! € 3R 4 =% *f
Tl T 24% w2 foerdt &1 Woa 5 g
it &, @ 39 foreet waeh g faert?
(a) 34% (b) 20.4%
(€)12.8%  (d)23.25%

When a discount of 20% is given
on an African safari ticket, the

profit is 43%. If the discount is
28%, then the profit is:

9 T AHIHT 96 Fi fahe T 20%
* g2 A S €, d 43% w1 A9 A
71 afg T2 28% @1, @ @ fare gm?
(a) 71% (b) 113.3%
(c)13.6%  (d)28.7%

At 13% discount the selling
price of a oven 1s Rs. 18000,
what 1s the selling price if the
discount 1s 27.5%?

13% it 82 1 W TF e & fawm!
Hmd 18000 ¥4 %, aff @2 27.5%
& <t 2, & sEE faswt qew o e
(a) Rs. 10875 (b) Rs. 12288.75
(c) Rs. 15000 (d) Rs. 16638.75

www.spardha.guru



139;

140.

141.

142.

143.

144.

info@spardha.guru

10% discount is offered on an
item. By applying a promo code the
customer wins 20% cash baclk.
What is the effective discount?
TF a6 T 0% TS HI UIEHY HI T 2
TF Y FIT A F TeF 20% THs
Ay Sl B sen fell vl e w27
()33.6%  (b) 30%

(c) 22% (d) 28%

When a discount of 20% is
given on a jacket, the profit is
28%. If the discount is 13%,
then the profit is:

A TF SAHE W 20% F T2 & A6 7,
ql 28% T A1F T B AR B 13% B,
qf ey fewam gm?

(a)39.2 % (b) 41 %

(€)42.8 %  (d)37.4 %

If a retailer offers a discount of
32% on the marked price of his
goods and thus ends up selling
at cost price, what was the %
markup price?

It TF TR0 = a9 e & fafwa
T W 32% I WS TG F € 30 TH
We o qed W W da9d €, a %
fafza 7o = ar?

(a)24 % (b) 47.05 %
(c)22.34 % (d) 32 %

If the shopkeeper sell an item
at Rs.1250 which 1s marked as

Rs.1500, then what is the dis-
count he is offering?

gfe U gHEAR 1250 ® ¥ UH
F=a1 5 1500 F 3 w9 § e, 3&3
7% fopa wfav @2 F v H el
(a)20% (b) 16.67% é N
(c)25% (d) 10%

When a discountsof $0% is
given on a lunch b\ﬂffet the
profit is 42%. Ii&eﬂ;hscount is
15%, then the profit is:

TE U T gD W 20% F P F A
#, @t 420 1 o9 BRI AR WL 15%
B, a1 o9 fEa gm?

(a) 57 % (b) 50.875 %
(c)63.125 % (d) 44.75 %

If 1 dupatta is offered free on
purchase of 4 dupattas priced Rs.
1300 each, what is the effective
discount on each dupatta?

S

8.

145.

146.

i 274

@

149.

“&) 10 %

A% U 1300 T FIHA A 4 IR H
BT W | T YR UH H UEEY H

St A T 3 TR T 2 = e
(a) 66.67%  (b)20%
(c) 25% (d) 12%

25% discount is offered on an
item. By applying a promo code the

customer wins 22% cash back.
What 1s the effective discount?

TF 95 W 25% T2 HI U9 F T
T Yl RIS AF] HE U6H 22% THE
o a2 3w firel wawEt w2 w27
(a)41.5% (b) 50.63 %

(c) 47% (d)27.5 %

When a discount of 20% 1is
given on a pizza, the profit is

32%. If the discount i1s 18%,
then the profit is:

el T TS 9 20%

150.

g q A B, o \Q}(E

F o] F1 Hfed Fa 200 %81 195
Ft TE W 5% e e €, 2 5% H
Tt W 14% we frerdt 21 ot 3 A
wiedt €, 9 39 feadt wadt g2 fiend?
(a) 37 % (b) 26.25 %
(c) 11 % (d) 30.2 %
Ticket for an adult 1s Rs. 1200
and a child is Rs. 800 respec-
tively. One child goes free with
two adults. If a group has 25
adults and 5 children. What 1s
the discount the group gets?
wF T F fome W T 1200 F @
ai‘nqa; # fowe 1 979 300 ® 7
g TF = Fges W
wﬁ@%&’aﬁ F U9 § 25 9 3R
E‘lﬁ"* il 39 wge =1 fehal g2 faenii?
1724 % (b)24 %

a’lsz%zﬁlw&ra’m%laﬁfwls%%ﬁ ,g:‘j (€)24.41 % (d)11.76 %

At e faan gm?

(a) 50 % (b) 64.7 % &3_))
(c) 35.3 % (d) 20.6 %
Marked price of an 1terﬁ}13 Rs
900. On purch 2 items

discount 1s 16% ?q purchase
of 5 items di nt is 44%.
Raksha 1’)1?! G o tems, what is

the effectivé discount?

1@900@%03@

rhsh % e fuer #1 v 7 a5
it 2, @ 38 foraet yorelt e frent?
(b) 16 %
(c) 36 % (d) 9.6 %
Marked price of an item is
Rs.300. On purchase of 2 items
discount 1s 24%, on purchase
of 5 items discount is 38%,
Rachna buys 7 item, what is
the effective discount?
T g i fafed m yem 300 % 21 2
T @R T 24% e et €, 5 o9
T T W 38% T e &1 = 7 9
(a) 17.5 % (b) 20.4 %
(c) 34 % (d) 12.8 %
Marked price of an item is Rs.
200. On purchase of 1 item dis-
count is 5%, on purchase of 2
items discount is 14%.

Rajeshri buys 3 items, what is
the effective discount?

151

152.

153.
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If 25% of an electricity bill is
deducted, Rs. 1788 1s still to be
paid. How much was the bill?
afe frel faselt & faa § 25% g2 &
St &, di @il i 1788 % 1 e gl
A ©® A g Wy o fael fea e
(a)Rs. 1430 (b)Rs. 2420

(c) Rs. 1466 (d)Rs. 2384
Ticket for an adult is Rs 500
and a child is Rs 200. 1 child
goes free with two adults. If a
group has 20 adults and 8
children what will be the
discount the group get?

U FAE F e W OHE 500 T § AR
UF a= @ f2%2 w1 ged 200 ¥ 21 A
T & WA | g 3w S g
21 afE o wue § 20 a9 AR 8 =
& dt 39 gyE # fa g2 freni?
() 53.43 % (b) 13.79 %
(€)322 % (d)35.06 %

30% discount is offered on an
item, By applying a promo code
the customer wins 5% cash back,
What is the effective discount?
TF A W 30% BT F WEH F E B
a0 S € SE! el waEt 52 = 82
(a) 33.5 % (b) 35.175 %

(c) 35 % (d) 6.5 %

|" M7
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If 2 shirts are offered free on pur-
chase of 3 shirts priced Rs 600
each, then what will be the ef-
fective discount on each shirt?
A JoF 600 ® HAG Gl 3 W Hl
S T 2 I G UM I SR T St
£ @ ueE W W weeEh B2 @ Eni?
(a) 30 % (b) 66.67 %

(c) 40 % (d) 25 %

If 1 shirt is offered free on pur-
chase of 3 shirts priced Rs 500
each, then what is the effective
discount on each shirt?

afE USE 500 F HIAG A 3w w
BT W | I qH TH F WIHT i S
A v W W wuE w2 = g
(a) 30% (b) 33% (c) 20% (d)25%
If two t-shirt are offered free on
purchase of one t-shirt priced
Rs.800 each, then what is the ef-
fective discount on each t-shirt?
IfE 800 & FIHG el UFH 2 IR FHt =i
W 3 Ve R UM HI WY I S
g @ v & v W e w2 ae
(a)25 % (b) 33.33 %
(c)66.67% (d) 15 %

30% discount is offered on an
item. By applying a promo code the
customer wins 20% cash back.
What is the effective discount?

TF A W 30% T2 I F W 2
TF WH FE AN FH T 20% THS
AT SPdr 81 SEH el yee g2 S 87
(a)44% (b) 52.8%

(c) 50% (d) 26%

20% discount 1s offered on 6112;[75%

item. By applying a promo ood?gé:}
k*

customer wins 15% cash

What is the effective discofyat?"
forelt g ™ 20% B i 2
TF U FE N w 15% -
1 S @1 Se MR WA e 0 87
(2)30.8% ﬂ:%l%"f !

(c) 12% (d) 32%

10% discount is offered on an
item. By applying a promo code
the customer wins 5% cash back
What is the effective discount?
F g W 10% T F WA A W B
TF UM FIE oI FEh WEF 5% THg
A SHAaT 21 35 et v w2 am 27
(a)15.225% (b) 14.5%

(c) 15% (d) 5.5%

418 |
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Marked price of an item is Rs
200. On purchase of 1 item dis-
count 1s 22% on purchase of 4
items discount is 33 % Rabia
buys 5 items,what is the effec-
tive discount?

TF a5 F Ed gea 200 ® T TE
a5 1 @iE W 22% a2 fuert €, 4
a5 # Tig W 33% = o 2
T 5 a%g =A@, o 3§ e

v ge faen?
(a) 35 % (b) 30.8 %
(c) 34 % (d) 20.4 %

20% discount is offered on an
itemn, By applying a promo code the
customer wins 30% cash back.
What 1s the effective discount?

165.

W 99 % o5 W g 1500 §
#in wF a=d F fohe 1 9eg 800 € 2
S Feht & w1 e s o v
219 v e ° 25 e ol 129
£ 9 36 wE 7 frad 92 fend?
(a]26.47 %  (b)20.38 %
(c)31.60 % (d)33.33 %
If the shopkeeper sells an item
at Re.2275 which is marked as
Rs.3250, then what is the dis-
count he 1s offering?
afg TF FEEEN 2275 F H UE g%
S €, ST §250 ® F ®9 F sifepa &, @
7 fbal A T F W &
(a) 30 (b) 20 %

.%?6? .
(025 % (d) 37.5 %

ot e W 20% % I WEN B R 16 :I dupatta is offered free on pur-
TF W T A e Tes 30% w{}‘"\(}}é ase of 6 dupattas priced

o it &1 3T el wawt w2 £ €

(@) 44% (b) 30% (c) 32% (d)22°
Ticket for an adult is Rs 1 Y

a child is Rs. 600.1 childgoes free
with two adults. If a grotip has

17 adults and 7 géﬁtén what
‘group gets?

is the discount t

T T % fEeH T 1600 % &
ﬁn@aﬁ,ﬁ,@aﬂzm@ 600 & I
2 I B 1 = (e 51 g
2l PAE | 17 995 SR 7 5=
#, 39 e ) e g 2

(b) 26.2 %
(€)24.41 % (d)32.2 %

If a merchant offers discount of

30% on the list price, then he
makes a loss of 16%.What %

profit or %loss will he make if he
sells at a discount of 20% of the
list price?

afg wF = g wm 30% Fo3
WM FLA 8, d 3H 16% 1 THEE g6l
F 3R TF g ged W 20% F T W
el el &, af 39 fwad % =@ @
fehe % 21 enfi?

(&) 14 % profit (b) 4 % loss

() 26 % prdfit (d) 8 % profit
Ticket for an adult is Rs.1500 and
a child 1s Rs 800.1 child goes free
with two adults, If a group has

25 adults and 12 children. what
is the discount the group gets?

167.

168.
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Rs.1200 each. What is the effec-
tive discount on each dupatta?
Afg gF 1200 € FAd 91 6 TI& T
3 922 Y U HI T & 5w €, qf
YdF gIee W YaE ®e & shi?

(a) 25 % (b) 20 %

(c) 12.5 % (d) 33.33 %

At 19% discount the selling
price of a freezer is Rs 24000,

what is the selling price if the
discount is 32.5%?

19% &t 2 39 W TH Fiow it fash!
Fi9d 24000 & &1 @R g2 32.5% &
S €, @ SO faw ged A em?
(a) Rs. 13500 (b) Rs. 20000

(c) Rs. 16065 (d)Rs. 21465

If a merchant offers discount of
25% on the list price, then he
makes a loss of 5%. What %
Profit or % loss will he make if
he sells at a discount of 10% of
the list price:

g W AR Afhd Hed W 25% Fi
T USH HEI L, A IH 5% F THAA
2 #1 3R W% g geT W 10% #
W W HE S € o 59 FRe % e
71 fom % =i 2nft?

(a) 5.5 % loss (b) 14 % profit

(c) SO % profit (d) 26 % loss
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. Ticket for an adult 1s Rs 2200 and

a child 1s Rs 990. One child goes
free with two adults. Ifa group has
23 adults and 11 children, what

1s the discount the group gets?
W T % feme w1 Oqed 2200 F
3R wF T F o F T 990 F B
3 FIEH F WY TE a1 FAIEE ;|
Tl €1 4% UF 99E § 23 99 @R 11
T4 ¢, 9 39 UgE H et g fen?
(@)17.71%  (b) 32.30%
(€)26.47% (d) 25.77%

At 10% discount the selling
price of a toaster is Rs.18000,

what is the selling price if the
discount is 37.5%?

10% # B2 3 T TF X FI TR
FHd 18000 & 2, A W2 37.5% & S
2, suw faw wed w1 B

(a)Rs. 7812.5(b) Rs. 12500
(c) Rs. 8593.75 (d) Rs. 15468.75

Marked price of an item is Rs
500. On purchase of 2 items
discount 1s 8%, on purchase of
3 items discount i1s 16%. Radha
buys 5 items, what is the effec-
tive discount?

T T I AfRd G 500 F &1 2 T
i wle W 8% e fiEr 2, %aﬂaﬂﬁ
i W 16% 2 e 21 T S
wiedt &, i 59 R g g2
(a)20.4 %  (b)23.25 %é \

[C] 12.8 % [d] SSW“

-

173.A Rs.

174.A Rs 1000 box of

172.1 packet of biscuits costs Rs. 16

but a pack of 4 of the same
packet of biscuits costs Rs. 56.
What is the effective discount
(in %) on the pack?

foegz & 1 Te # Fa 16 w94 @
T 3 fae F 4 992 3w O A
#Hd 56 T 21 UF W e 92 (%
3) ot 2
(a) 8

(c) 7.5

(b) 10
(d) 12.5

750 tin of cheese is of-
fered at 8% discount and a Rs.
1250 tin of butter at 20% dis-
count. If we buy 5 tins of cheese
and 3 tins of butter, what i1s the
effective discount we get (in%?
750 F93 & 9 # o7 W 8% *I w2
& St € 3 1250 T & g F fT 4
wm%aﬁwﬁmmwﬁmm
% 5feq 3w 92 % 3 fo wlied 2
= urEt w2 (% W) fhadr faeit?

: o Oy
(a) 12 (b) 15 /;\
(c) 14 (d) 16 Jj
kies is of-
fered at 10% dischunt and a Rs
400 bar of ch afe at 8% dis-
count. If w& boxes of cook-
ies and s of chocolate,
what 1s égﬁ effective dlscount
we %)?

1 & OFENT H OUF AEE W
(ﬁaﬁ@ﬁw%ﬁnz}owzﬁ
2 F TF 9N W 8% H B q

) S %1 AR T OEES B 2 9 R

Fwee # 3 AR =l & @ e w1+
fr T2 (% B) frni

()9 (b)9.25

(c) 8.75 (d) 8.5

176.

176.

On a machine there is 10%
trade discount on the marked
price of Rs. 2,50,000. But the

machine is sold at Rs. 2,16,000
after giving a cash discount.
How much is this cash discount
(in %)?

T WeiH fo| T #fwd wiwa 2,50,000
T & R 10% w2 & S #1 Wy TS
T2 3 F 9% WA 2,16,000 EHET H
w1 S B T w2 (% ) FRa ofi?

(a) 5 (b) 4
(c)6 . @7
If an 1t ked at Rs 480 is

b}é at Rs 400, then what

effective discount on the

rf\yﬁp

J

177.
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31‘1?480"6‘4'{31%@5 HATEH
400 & H T91 1 W@ 7 9 39 ALeH
W wHHl w2 w27

(a) 20 (b) 16.67

(c) 25 d) 15

On an item there is cash 5% dis-
count on the marked price of Rs
25,000 After giving an additional
season's discount the item is
sold at Rs 20,900. How much was
the season's discount (in %)?
el aEem W 25000 ® & HiFa
HET 9 5% T TS we & T F1
W 20,900 & W =1 Sam 21 HioH
1 fewnige foram a1 (% ®)?

(a) 11 (b) 10

(c) 12 (d) 9
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% ANSWER KEY

1. (b 19. (b) 37. (a) 55. (a) 73. (b 91. (d) 109. (¢ 127.(0) 145.(a) 163. ()
2. (b 20. (a) 38. (d) 56. (a) 74. (b) 92. (g 110.(c) 128.(g) 146.(c) 164.(b)
2. () 21. (a) 39. () 57. (&) 75. fc) 93. (a) 111.(d) 129 () 147 () 165.1(a)
4. (o 22. (c 40. (o) 58. (b 76. (d) 94. (a) 112.(c) 130.(d) 148.(c) 166.(d)
5. (9 23. (c) 41. (@ 59. (a) 77. (c) 95. (c) 113.(c) 131.(0) 149.(c) 167.(b)
6. (d) 24. (o) 42. (@) 60. (a) 78. (d) 96. (a) 114.(¢) 132.(b) 150.(d) 168.(b)
7. (9 25. () 43. (a) 61. (b 79. (a) 97. (b 115.(b) 133.(d) 151.(d) 169.(a)
8. (g 26. () 44. (b 62. (d 80. (c 98. (b 116.(d) 134.(b) 152.(b) 170.(b)
9. (o 27. (b) 45. (o 63. (a 81. (c 99. (g 117.(d) 135.(c) 153.(a) 171.(c)
10. (b) 28. (b) 46. (b) 64. (c) 82. (a) 100.(a) 118.(c) 136.(b) 154.(c) 172.(d)
11. (b 29 (a) 47 (¢ 65. (d) 23. (c) 101 (a) 119.(c) 137.(d) 155.(d) 173.(c)
12. (g 30. (c) 48. (a) 66. (d) 84. (c) 102.(d) 120. (b) 138.(c) 4 156.(c) 174.(b)
13. (4) 31. (a) 49. (a) 67. (d 85. (c 103. (b 121.(a) 139.(d)” 4}, 157.(a) 175.(b)
14. (d) 32. (o) 50. (d) 68. (d 86. (a 104.(a) 122.(c) 140 ja 158.(d) 176.(b)
15. (b 33. (o) 51. (o) 69. (d 87. (al 105.(c) 123.(c) Lad( 159.(b) 177.(c)
16. (o) 34. (d) 52. (a) 70. (b) 88. (¢ 106.(c) 124.(c) ) 160. (b)
17. () 35. (a) 53. (d) 71. (b 89. (d) 107.(d) 125.(b) 0\5:3-@ 161.(a)
18. (d) 36. (d) 54. (g 72. (a) 90. (d) 108.(c) 126-@\ oJ 4.(0) 162.(g)
Ty
-
N
2 NS
£
O’
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228
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